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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(i)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

61/3/1

This question paper contains 34 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A - Questions no. 1 to 21 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B - Questions no. 22 to 27 are Short Answer (SA) type questions,
carrying 3 marks each. Answers to these questions should not exceed 60 to 80
words.

In Section C - Questions no. 28 to 30 are Long Answer (LA) type questions
carrying 8 marks each. Answers to these questions should not exceed 300 to
350 words.

In Section D - Questions no. 31 to 33 are Source-based questions with three
sub-questions of 4 marks each.

In Section E — Question no. 34 is Map-based question carrying 5 marks that
includes the identification and location of significant test items. Attach the
map with the answer book.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Identify the theme of “Sushruta Samhita” from the following options :
(a)  Work on Constellation
(b)  Work on Mathematics

(¢) Work on Medicine

(d) Work on Grammar

3 P.T.O.
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2. Read the following statements about the Indus Valley Civilization :
(1) Early and mature Harappan culture shared subsistence strategies.

(i1)  Millets have been found from one of the Indus Valley Civilization
sites.

(iii)  Archaeologists have found evidences of a ploughed field at
Kalibangan.

(iv)  Archaeo-zoologists reconstructed dietary practices from charred
grains.

Choose the correct option :

(a) (1), (i1) and (iv) (b) (i), (ii1) and (iv)

(¢) (1), (i1) and (iii) (d) (1), (i) and (Gv)
3. Which one of the following is the oldest dynasty ?

(a) Maurya (b)  Gupta

(c) Kushana (d Kanva

4, Which of the following is not a literature of Buddhism ?
(a) Vinaya Pitaka and Sutta Pitaka
(b)  Dipavamsa and Mahavamsa
(c) Jataka Stories and Ashokavadana
(d) Uttaradhyayana Sutra and Tattvartha Sutra

5. Which of the following countries did Marco Polo belong to ?
(a) Italy (b) Portugal
(c) Spain (d) France

6. Which of the following statements are correct about the Bhakti saint,
Karaikkal Ammaiyar ?
(1) She was a woman devotee from Karnataka.
(i1)  She was a woman Nayanar.
(iii) She was a devotee of Shiva.
(iv)  She composed Nalayira Divyaprabandham.

Choose the correct option :
(a) (i) and (iv) (b) (i) and (iv)
(c) (1) and (iii) (d) (i) and (iii)
61/3/1 5 P.T.O.



10.

YT H T Shi-aTad gRI FHfaiad # ¥ -5 Tea Jorett ] 6l T8 2
(a) STl e (b) HECATR SFaEe
() Fqa sFeeen (d) AR SFaeen

T Y-TSTEd U8 o a1 § fAfaRgd § € H-91 98 8 ?

() PUpad - A<D, HH JR T T W BT HT e

Gi) 78 . THA! bl heTs, S H WET I ATIEH TS F Sedm
(iii) @7 &erF : 914 4 U8 Wl 1 Seanl

(iv) &7 278 ; TS 3R THIER & 19 BHA T dedi

gl faehed w1 =74 HiT
(a) (i) 3 (iv) (b) (i) 3T (v)
(¢ (1) 3T (ii) (@ (i) 3T (iid)

ISR "= % S 99EHl o 91§ f=fafgd § 9 w941 faseey 98 @ 2

(a) e T8 fooR § Iut-gd foom &t 3 55t 2 |
(b) TR ¥ T smEeRt grRy deae w1 fAmior feRam wm o |

(c) HHATYH SIATS 1 IHI Teh &t o HIEAH § TS hrg qb o A1
T o1 |

) Tefen T8t gqa 991 & Tsiett iy 918 TS |

fefafga fasedt & 9 feu o wfer & fo3 & 8= hifve |




10.

Which one of the following revenue systems was implemented by Charles
Cornwallis in India ?

(a) The Zamindari System (b) The Mahalwari System

(c) The Ryotwari System (d) The Malguzari System

Which of the following are correct about Mughal Land Revenue
Collection ?

(i) Kankut : Estimation of crops as good, middle and inferior

(i1)  Batai : Crops were reaped, sacked and divided by agreement
(iii)  Khet Batai : Division of fields before they were sown

(iv)  Lang Batai : Division of crops among Kings and Zamindars

Choose the correct option :
(a) (i) and (iv) (b)  (iii) and (iv)
(¢) (1) and (i) (d) (i) and (iii)

Which of the following options is correct about the water resources of the

Vijayanagara Empire ?

(a) River Kaveri flows in Vijayanagara towards north-easterly
direction.

(b)  Embankments were built by Gajapati rulers in Vijayanagara.

(c) Kamalapuram tank’s water was conducted through a channel to
the ‘Royal Centre’.

(d)  Hiriya Canal was built by the kings of Saluva dynasty.

Identify the given image of a temple from the following options :

(a) Hazara Rama Temple (b) Kailashnatha Temple
(c) Chidambaram Temple (d) Brihadeshwara Temple

7 P.T.O.
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Note: The following question is for the Visually Impaired Candidates, only in
lieu of Q. No. 10 :

Krishnadeva Raya belonged to which of the following dynasties of
Vijayanagara Empire ?

(a) Sangama (b)  Tuluva

(c) Saluva (d  Aravidu

11. Identify the leader of the Revolt of 1857 with the help of the following

information :
e Was the ruler of Delhi

e Was the last Mughal ruler

e Gave legitimacy to the rebels of 1857 against the British

(a) Bahadur Shah Zafar
(b) Shah Alam

(c) Muhammad Shah
(d)  Wajid Ali Shah

12. Two statements as Assertion (A) and Reason (R) are given below. Read

them carefully and select the correct option :

Assertion (A) : The Jallianwala Bagh massacre marked a turning point

in India’s struggle for independence.

Reason (R): The massacre spoiled the relations with the British and
was the opening of Gandhiji’s commitment to Indian

nationalism.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.
61/3/1 9 P.T.O.
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13. Who

among the following was the

Assembly ?

(a)  Dr. B.R. Ambedkar
(b)  Mahatma Gandhi
(c) Sardar Patel

(d)  Dr. Rajendra Prasad

President of the

Constituent

14. Which of the following is the correct chronology of the rulers of ancient

India ?

(1) Chandragupta Maurya
(ii)  Ajatashatru

(i11) Mahapadma Nanda
(iv)  Ashoka

Choose the correct option :

(a)
(b)
(c)
(d)

15. Fillin

In the

(1), (ii), (iid), (iv)
(i1), (iv), (iid), (1)
(111), (i1), (), (iv)
(1), (ii1), (1), (iv)

the blank :

, the executives were made entirely responsible to the

Provincial Legislature.

(a)
(b)
(c)
(d)

61/3/1

Morley-Minto Reforms, 1909
Government of India Act, 1919
Government of India Act, 1935

Indian Independence Act, 1947

11
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16. Who among the following Chinese Buddhist monks visited India in the
fifth century (CE) ?

(a) Xuan Zang

(b) Fa Xian
(c) I-Tsing
(d)  Yijing

17. Who led the Revolt of 1857 from Lucknow ?
(a) Alamgir
(b)  Birjis Qadr
(¢)  Nana Sahib
(d) Peshwa Baji Rao

18. Read the following statements :

(1) Bernier’'s description influenced Western theorists from the
fifteenth century onwards.

(ii)  Montesquieu used this account to develop the idea of oriental
despotism.

(iii) Bernier’s idea was developed as the Asiatic mode of production by
Karl Marx.

(iv)  According to Bernier, the Mughal Imperial Court presided over
village communities.

Choose the correct options :
(@) (i), (i1) and (iii)
(b) (i), (iii) and (iv)
(¢) (D), (iii) and (iv)
(d) (@, (iD) and (iv)
61/3/1 13 P.T.O.



19.

20.

21.

61/3/1

= e Cu U g, SAfReH (A) R @R (R) | f=fafad i eaHgash
qfeu 3T He foehed o1 ==F hifoie

STTYHIT (A) : TS Awyal A fafw smel 1 s gaH orelt fahiaa i |
FRU(R): g ¥ &4 qUS % Yelg UTT T, |

(a)  IYHY (A) 3 SR (R) ST T@l & 3 SR (R), AMTHAT (A) H
&l ST hLdl 8 |

(b)  AHPAT (A) 3R HW (R) AT Tl 7, Tq HR (R), HA(WHAA (A) H
e I 7 Hr g |

() ¥R (A) U8l 8, Ted SR (R) TAd & |

d) T (A) A 8, T RV (R) T 2 |

3T37-T-37Het] o &I 3 o Heg H ffeifigd weFl i 9feu :
()  STE7-T-37%e] g Boldd o forgt off |

(i)  37ET-T-37HeR] e oh ATHST hi AAH T B! @ |
(iii)  STEF-T-37FeRT T A Jfh ! IATR HLA 8 |

(iv)  377E7-T-37%eR] Il hl ST JUITCA! 1 Ieoi@ hid! & |
gl Taeheq o1 == HiT

(@ @), (i) 3 (iv)

(b) (@), (i) 3R (i)

(€ (), (iii) 3 (iv)

(d) @), (iii) 3R (iv)

Teprel = fagra frfafad # o forg vge @ 9afa o ?

(a)  @EINS
(b) TSI
(c) 3

(d)  HrEpideh

14



19.

20.

21.

61/3/1

Two statements as Assertion (A) and Reason (R) are given below. Read

them carefully and select the correct option :

Assertion (A) : Harappan Civilization had developed a precise system of

welghts and measures.

Reason (R):  Metal scale-pans have been found.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

Consider the following statements regarding the central purpose of the
Ain-i-Akbari :

(1) Ain-i-Akbari was authored by Abu’l Fazal.

(i1)  Ain-i-Akbari presented the vision of Akbar’s empire.

(iii)  Ain-i-Akbari highlighted the strength of the Mughal Army.
(iv)  Ain-i-Akbari mentions the Iqta system of Mughals.

Choose the correct option :
(a) (@), (i) and (iv)

(b) (1), (i) and (ii1)

(¢c) (1), (iii) and (iv)

(d) (i), (ii1) and (iv)

With which of the following aspect was the ‘Ricardian theory’ related ?
(a)  Social

(b)  Political

(c) Economic

(d)  Cultural

15 P.T.O.
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SECTION B
(Short-Answer Type Questions) 6x3=18

22. (a) “Between the sixth and fourth centuries BCE, Magadha became the

most powerful Mahajanapada.” Explain the statement with

examples. 3
OR
(b) “Several urban centres emerged in the sub-continent from the sixth
century BCE.” Explain the statement with examples. 3
23. Why is Mahabharata considered as a dynamic text ? Explain. 3
24. Describe any three experiences of Ibn Battuta in India. 3

25. (a) “Virupaksha Temple was significant in Vijayanagara Empire.”

Substantiate the statement. 3
OR

(b) “The architecture of Vitthala temple was unique.” Substantiate the

statement. 3

26. How did G.B. Pant show his concern in the Constituent Assembly for

making India a unified nation ? Explain. 3

27. How did the British control the powers of Talugdars in the 1850°s ?
Explain. 3

SECTION C
(Long-Answer Type Questions) 3Ix8=24

28. (a) Why is the mid-first millennium BCE often regarded as a turning

point in world history ? Explain with examples. 8
OR
(b) How have Art historians tried to understand Buddhism through the
sculptures of Sanchi Stupa ? Explain with examples. 8

61/3/1 17 P.T.O.
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o fraren geer @iwen &1 o, 9 gEd 9 2 9l W gwed: had
e A1 T8 s o T SSI-gfedi qen werelt i fed o e fopam Smar o |
31 G eI o Toorl sl AR AfHepl g1 “@re Georl” sl AW foam @ qe
EIR STa= 5 Teh J&! Yool TS H T o e QUgerd & SYR A1 7 |
(3T Uoh, Be? TFgHITH U2 HIg77153])
(31.1) YUdalag T @ISl ohl h¥l Tfihd hid & ?
(31.2) YUAEIAE W QUAEG3Tl hl THSH o [T IaHM THI hl Feqali ohl
T HH L B 2
(31.3) 3T%C Teh + I Yeaeh H ‘STadc =dehl’ 1 U fohdl TR foharm o ?
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1

1
2



29.

30.

31.
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(a) Describe the philosophy and teachings of Kabir.
OR
(b) Describe the teachings and philosophy of Islam.

(a) Analyze Gandhi’s activities in India during 1930 — 34.
OR

(b) ‘By 1922, Gandhi had transformed Indian nationalism’. Examine
the statement.

SECTION D
(Source-Based Questions) 3x4=12
Read the given source and answer the questions that follow : 1+1+2=4

How artefacts are identified

Processing of food required grinding equipment as well as vessels for
mixing, blending and cooking. These were made of stone, metal and
terracotta. This 1s an excerpt from one of the earliest reports on
excavations at Mohenjodaro, the best-known Harappan site :

Saddle querns ... are found in considerable numbers ... and they seem to
have been the only means in use for grinding cereals. As a rule, they were
roughly made of hard, gritty, igneous rock or sandstone and mostly show
signs of hard usage. As their bases are usually convex, they must have
been set in the earth or in mud to prevent their rocking. Two main types
have been found: those on which another smaller stone was pushed or
rolled to and fro, and others with which a second stone was used as a
pounder, eventually making a large cavity in the nether stone. Querns of
the former type were probably used solely for grain; the second type
possibly only for pounding herbs and spices for making curries. In fact
stones of this latter type are dubbed “curry stones” by our workmen and
our cook asked for the loan of one from the museum for use in the
kitchen.

(From Ernest Mackay, Further Excavations at Mohenjodaro)
(31.1) How do archaeologists classify their finds ?

(31.2) How do archaeologists use present day analogies to understand
ancient artefacts ?

(31.3) How has Ernest Mackay described ‘Saddle quern’ in his book ?
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feu e &a =1 dfeu 3t A= fou U et % I faRev

USt 3R Tt i fE=mg

feged™ o Hooh ol SATGIR Tedn AT STHIA oX =761 §371 2 |
BIl(oh & A SN Wl Ak FHIA h 9gdFd @, Afh
gl off I7d It (ST Zawm) TE... 9 zafae... 5 wad I
T FETHT o fIC gt i foeisd s T8 @ | 3G kg i
®ET ST oh IHT § &1 91 81 91l &; IR A g i 1d @
5 s9a =g 1 BEc a a9 off Y7 & S B A SO
ot 2 7 gt | (s oft) B¢ Ui 9 SrAfedt o1 we &
AER, S (G & TS % dTiepea™ H) W U gad
TRl W AN @ o U 9= hid 8 | 9 T & e MAThR
He 1A 8 S PU hT TEUE o YATfeh od 8id 8 | 37 Bai A
orgl-oTEl gt T 9 ARSI h ok TG & IR 3 eehi W TS
g ¢d & | AP o TRl 3N TSt ¥ oeft 3 da w P
% W Il § TehE Il 8 | URT h gt W Th AN
gigan | g9 3ffqu d9fg i Sel o WY gHrR ST 8; 39 ey
% QI 9T o GEX 93T % GIdi I IS TId & 3N 38 TE Hel
AT i AT 2 | g8l § W@l uH FRar ], 98 U
Ul T @ig fean Smar @ 3R 3\ altes @ ® OWE U
EECIRIIS G

I, =fger 3 I (3T o I Y1 H) H 3R WH 37
samehi | off, ArEE STaAfedt ¥ =g wd 8 | FU o AR
T d Ahe! & hd TS ad &, 39 el o §9 g9 [ChId 3,
Ueh Sl ST H W Sigd 8, TH] i 9od W dued 8 3R
T GO R I 9 § 914 qd 8 | Th EH I 9A Bkl
IEdl 2, GEU St § qH ek 2 |

(32.1) TS A H HY o IR & ToTT ITERT ek 6 7@ HifT |

20

1+1+2=4

Ig 77 757 8 T T Uk 379 3 S fO=E o 39 Ik o 9 H
ATl & S 39 dTeYE 4 I 9Rd J <9 :

(32.2) T &1 glagreti & fawar 7 fopami &1 wrfiert fha TR gTs 2 1
(32.3) hNeh A H T B dTcl =TS IUHIN <l W@ T |
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Read the given source and answer the questions that follow :

This 1s an excerpt from the Babur Nama that describes the

Irrigating trees and fields

irrigation devices the emperor observed in northern India :

(32.1)

(32.2)

(32.3)

The greater part of Hindustan country is situated on
level land. Many though its towns and cultivated
lands are, it nowhere has running waters ... For ...
water is not at all a necessity in cultivating crops and
orchards. Autumn crops grow by the downpour of the
rains themselves; and strange it is that spring crops
grow even when no rains fall. (However) to young
trees water is made to flow by means of buckets or
wheels ...

In Lahore, Dipalpur (both in present-day Pakistan)
and those other parts, people water by means of a
wheel. They make two circles of rope long enough to
suit the depths of the well, fix strips of wood between
them, and on these fasten pitchers. The ropes with the
wood and attached pitchers are put over the wheel-
well. At one end of the wheel-axle a second wheel is
fixed, and close to it another on an upright axle. The
last wheel the bullock turns; its teeth catch in the
teeth of the second (wheel), and thus the wheel with
the pitchers is turned. A trough is set where the water
empties from the pitchers and from this the water is
conveyed everywhere.

In Agra, Chandwar, Bayana (all in present-day Uttar
Pradesh) and those parts again, people water with a
bucket ... At the well-edge they set up a fork of wood,
having a roller adjusted between the forks, tie a rope
to a large bucket, put the rope over a roller, and tie its
other end to the bullock. One person must drive the
bullock, another empty the bucket.

1+1+2=4

Examine the factor that accounted for the expansion of

agriculture in Mughal Period.

How did the expansion of irrigation facilities increase the

participation of farmers ?

Examine the irrigation devices used in agrarian culture.
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feu ¢ wia 1 ufey 3 = Ty e weAt o 3w fafa

TR & raer

b A A g fh ST 9 % [ e % Siagr foRd

TR SHIGR o TSR @1 UfaUg TR 3IWehl Wk i Tagadl
forn a9

YEATH! 39 a7 % AN Sl 9HE T8l id o, Tk Ig T
8 T 31 AN 1 81 980 SU o1 Hifh $9h forT,
STELAHE HITAh ol TET IR B <dl...

FIaeR, S qEI-S$ FHH Jlad 8, 95 &l geld HR e &
3R I M g Toh SIHIGRT T 3 W hig I g1 goral | o
Rt e e e B M e L - B
T & fohed T $R-A-F® IHET HH | A § | I
I 3 Ug hl §hell O TG THH & | SHIER <l ThH &
HRU, FR ATSH I8 gl T A I AR 37 -
g & I TR-gl-ue Fagd U Uk ofd 8 @ 9 qid 3Tehl
ARG i & oIt ®ivgRl o1 (Yfre o) = gfa i
Fasll U Ugd Id & 3R Had @ [ FHIGR o NG -
3TRT IIHE AT 8 | 39 bR TS <hl SR THAT 6
AT 9gd STd & 3T Siider SI-81¢ 3d sl o 1 e

% o e & 2.

(33.1) TeamIqt = FHiei &1 Saeri 3 fotia == fopanm 2
(33.2) Sderi 3 dl i fh8 ThR WShMT ?

(33.3) SIder Tid # frg YR wfchemet s4 2
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Read the given source and answer the questions that follow :

(33.1)
(33.2)

(33.3)

The jotedars of Dinajpur

Buchanan described the ways in which the jotedars of
Dinajpur in North Bengal resisted being disciplined by the

zamindar and undermined his power :

Landlords do not like this class of men, but it is
evident that they are absolutely necessary, unless the
landlords themselves would advance money to their

necessitous tenantry ...

The jotedars who cultivate large portions of lands are
very refractory, and know that the zamindars have no
power over them. They pay only a few rupees on
account of their revenue and then fall in balance
almost every kist (instalment), they hold more lands
than they are entitled to by their pottahs (deeds of
contract). Should the zamindar’s officers, in
consequence, summon them to the cutcherry, and
detain them for one or two hours with a view to
reprimand them, they immediately go and complain at
the Fouzdarry Thanna (police station) for
imprisonment and at the munsiff’s (a judicial officer at
the lower court) cutcherry for being dishonoured and
whilst the causes continue unsettled, they instigate
the petty ryots mnot to pay their revenue
consequently ...

Why did jotedars resist the Zamindars of Dinajpur ?
How did Jotedars instigate the ryots ?

How did jotedars gain power in the village ?
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Qg T
(Wt -enenfia we) 5

34. (34.1) WRA o [T MU TSHITah WI-AEREE (56 27 W) #H, F=faked =i
3T Tosl & sifera Shifste @it 3k 9 fafem - 3x1=3
(i) I — 3T & G
(i) TEFE - foshfia geon queed
(i) (F) ST — Gl o A &
HYAT
i) (@) B - g
(34.2) WA & 3T T (@T-AHRE W g LA ol A 3R B & 31fha fera
T R, S 1857 W AU & AfT & O HE(d & | IRl YgAIT 3R
39k TE! A9 Ik ke Wi=N T8 T@reti 1 fafigu | 2

Fig:  [AEIET 397 #ac gheattad qagiaal & (0 9. . 34 & T W3

(34.1) 9Ra | foregl g sitg Toreti o am feflaw | 2

(34.2) (%) WA AU & AefT foreft weh & 1 A fafaw | 1
Jrra

(34.2) (@) T U o fohdll Toh T9T TR 1 99 fafEw | 1

(34.3) 1857 = fagig & fohrgl @ gl o W faiRgu | 2
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SECTION E
(Map-Based Questions) 5

34. (34.1) On the given political outline map of India (on page 27), locate and
label the following with appropriate symbols : 3x1=3

(1) Kannauj — Ashokan Inscription
(ii)  Rakhigarhi — Mature Harappan site
(iii) (a) Ajmer — Territory under control of Mughals
OR
(iii) (b)  Mysore — An empire
(34.2) On the same political outline map of India, two places related to

British control in 1857 are marked as A and B. Identify them and

write their names on the lines drawn near them. 2

Note: The following questions are for the Visually Impaired Candidates,
only in lieu of Q. No. 34 :

(34.1) Name any two Buddhist sites in India. 2
(34.2) (a) Name any one territory under Mughal empire. 1
OR

(34.2) (b) Name any one capital city of the Mughal Empire.
(34.3) Name any two centres of the Revolt of 1857. 2
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For question no. 34
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